RFP #32-19-05 CTE HEALTH SCIENCES EQUIPMENT, MERCHANDISE & SERVICES

			1			
Line #	Item Description (PLEASE NOTE: Where specific brand/manufacturer is referred to, it is only for description purposes and an equal product/solution may be proposed)	Company	Unit of Measure	Quantity (Quantities listed are estimates only, the District's needs may be higher or lower than stated here)	PROPOSED UNIT PRICE	Extended Price
1	12 in Powder Containment			1	ND	ND
1	Hood		EA	1	NB	NB
2	American Heart Association Basic Life Support (BLS) Instructor Package	POCKET NURSE	EA	30	\$147.06	\$4,411.80
2	American Heart Association Basic Life Support (BLS) Instructor Package		EA	30	NB	NB
3	American Heart Association Basic Life Support (BLS) Provider Manual		EA	250	NB	NB
4	Heartsaver First Aid CPR AED students workbook		EA	250	ND	ND
5	Aribex Nomad Pro 2 (x-ray gun)		EA	250	NB NB	NB NB
6	Articulating Paper - (12 books/box) BD Eclips Blood Collection		BOX	20	NB	NB
7	Needle Box	POCKET NURSE	EA	5	\$72.00	\$360.00
8	BD Vacutainer SST Plastic Tubes - box	POCKET NURSE	BOX	10	\$28.19	\$281.90
9	Blood Pressure Kit	UNIFORM WORLD INC	EA	100	\$23.16	\$2,316.00
		POCKET NURSE CAROLINA	EA	100	\$25.25	\$2,525.00
		CAROLINA BIOLOGICAL SUPPLY CO	EA	100	\$202.97	\$20,297.00
10	Clay Cutting Mat - 8" x 12"		EA	70	NB	NB
11		POCKET NURSE	EA	6	\$256.49	\$1,538.94
12	CSI: Who Killed Henry Ward ? Kit		EA	10	NB	NB
13	Curaplex all-in-one Personal Protection and Cleanup kit		EA	100	NB	NB
14	Curaplex CMR (Compact Manual Resuscitator) Adult	POCKET NURSE	EA	80	\$20.57	\$1,645.60
15	Dexis Platinum Digital Radiography Sensor		EA	1	NB	NB
	Eaglesoft Computer Software		EA	1	NB	NB

				Quantity		
				(Quantities		
				listed are		
	Item Description			estimates only,		
	(PLEASE NOTE: Where specific			the District's		
	brand/manufacturer is referred to, it			needs may be		
	is only for description purposes and		Unit of	higher or lower	PROPOSED	Extended
	an equal product/solution may be			than stated		
Line #	proposed)	Company	Measure	here)	UNIT PRICE	Price
		UNIFORM				
16	ECG Calipers	WORLD INC	EA	60	\$5.56	\$333.60
10			2.11	00	\$5.50	\$255.00
		POCKET NURSE	EA	60	\$6.10	\$366.00
					+ 0.12 0	+++++++++++++++++++++++++++++++++++++++
	Econo CPR Trainer with Visual					
17			F 4	10	¢127.70	¢5 500 00
17	Training Assistant (VTA)	POCKET NURSE	EA	40	\$137.70	\$5,508.00
18	Eisco Bacterial Types Model		EA	3	NB	NB
	E7 mood Jamon Conference					
10	EZ read Jamar Goniometer 6				AF	A11A /A
19	3/4"	POCKET NURSE	EA	20	\$5.63	\$112.60
		UNIFORM				
20	Fingertip Pulse Oximeter	WORLD INC	EA	40	\$24.12	\$964.80
		POCKET NURSE	EA	40	\$36.00	\$1,440.00
		CAROLINA				
	Frequency of Blook Types Lab	BIOLOGICAL				
21	Investigation Kit	SUPPLY CO	EA	16	\$38.60	\$617.60
21			2271	10	\$50.00	φ017.00
	Glove Nitrile Powder Free					
22	(100/Box)	POCKET NURSE	BOX	150	\$6.52	\$978.00
		CAROLINA	DOA	150	\$0.52	\$778.00
		BIOLOGICAL				
		SUPPLY CO	DOV	150	¢0.74	¢1 461 00
		SUPPLICO	BOX	150	\$9.74	\$1,461.00
	Halyard Purple Nitral Gloves		DOV		***	** * * *
23	(100/box)	POCKET NURSE	BOX	20	\$27.04	\$540.80
	Glucocard 01 Sensor Test Strips					
24	(50 COUNT)	POCKET NURSE	EA	20	\$22.12	\$442.40
		LAERDAL			-	
25	HeartStart FR2 AED Trainer	MEDICAL CORP.	EA	30	\$436.50	\$13,095.00
			1.// 1	50	φ-50.50	ψ15,075.00
		POCKET NURSE	EA	30	\$485.00	\$14,550.00
26	Human Skeleton with Muscle	POCKET NURSE	EA	0	¢000 77	\$7 060 16
20	inuman Skeleton with Muscle		£А	8	\$982.77	\$7,862.16
		CAROLINA				
		BIOLOGICAL				
		SUPPLY CO	EA	8	\$993.13	\$7,945.04
	Instructor's Economy Start			0	4775.15	<i><i><i></i></i></i>
	Package Sini Manikin 4 pack,					
	Sani Baby 4 Pack, replacement					
	face shield luch system and					
27	carrying bag	POCKET NURSE	EA	30	\$734.11	\$22,023.30
41				50	Ψ1.57.11	$\psi^{22},023.30$

Line #	Item Description (PLEASE NOTE: Where specific brand/manufacturer is referred to, it is only for description purposes and an equal product/solution may be proposed)	Company	Unit of Measure	Quantity (Quantities listed are estimates only, the District's needs may be higher or lower than stated here)	PROPOSED UNIT PRICE	Extended Price
		LAERDAL MEDICAL CORP.	EA	30	\$1,244.70	\$37,341.00
28	iPack Rx Academic Bundle - with onsite installation and CSA for two years		EA	1	NB	NB
29	Kendall Gauze Sponge 8 ply, 4'' x 4'' Non-sterile	POCKET NURSE	EA	60	\$4.15	\$249.00
30	Edvotek	CAROLINA BIOLOGICAL SUPPLY CO	EA	10	\$100.92	\$1,009.20
31	Laerdal Airway Management Trainer	POCKET NURSE	EA	3	\$1,993.44	\$5,980.32
		LAERDAL MEDICAL CORP.	EA	3	\$1,993.50	\$5,980.50
32	Lightplast Pro Elastic Tape White 2'' x 5 Yds/box		BOX	30	NB	NB
33	Lister Bandage Scissors	POCKET NURSE	EA	150	\$2.33	\$349.50
		UNIFORM WORLD INC	EA	150	\$4.80	\$720.00
34	LSP Portable Resucitator: Includes brass regulator, suction aspirator, cuffed mask, hose, adult and child airways, contained in plastic case MANIKEN for Anatomy in	LAERDAL MEDICAL CORP.	EA	5	\$29.34	\$146.70
35	Clay - student 2 work station bundle		EA	70	NB	NB
36	Microcentrifuge compact		EA	10	NB	NB
37	Micropipette, Variable 0.2-2uL		EA	50	NB	NB
38	Nasco Life/form Adult Venipuncture and Injection Training Arm	LAERDAL MEDICAL CORP.	EA	30	\$521.10	\$15,633.00
		POCKET NURSE	EA	30	\$522.21	\$15,666.30
39	Ortho banding and bonding kit		EA	20	NB	NB

The District solicited 363 vendors and received 5 responses

			I			
				Quantity		
				(Quantities listed are		
				estimates only,		
	Item Description			the District's		
	(PLEASE NOTE: Where specific			needs may be		
	brand/manufacturer is referred to, it is only for description purposes and			higher or lower		
	an equal product/solution may be		Unit of	than stated	PROPOSED	Extended
Line #	proposed)	Company	Measure	here)	UNIT PRICE	Price
		1 2		,		
	Paper Surgical Tape 1'' x 10					
40	yds/box	POCKET NURSE	BOX	30	\$6.29	\$188.70
	Powerflex tape - 2'' x 6 yds/box					
41	Black	POCKET NURSE	BOX	30	\$1.08	\$32.40
	Personal Protective Equipment					
42	PPE Kit	POCKET NURSE	EA	150	\$9.48	\$1,422.00
						1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1
	PractiMask Infant Mask 10	LAERDAL				
43	pack	MEDICAL CORP.	EA	10	\$7.80	\$78.00
	-			10	+	+
		POCKET NURSE	EA	10	\$8.99	\$89.90
		CAROLINA	ĽА	10	ቅ8.99	\$89.90
		BIOLOGICAL				
4.4	Preserved Cow Eyes - 1 per bag		EA	25	¢0.00	¢55 75
44	Preserved Cow Eyes - 1 per bag	CAROLINA	EA	25	\$2.23	\$55.75
	Preserved Pigs for dissection - 1					
45	per bag	SUPPLY CO	EA	50	\$13.63	\$681.50
43	per bag		EA		\$15.05	\$081.30
	Procedure Mask with Ear Loop					
46	and Face Shield (50/Box)	POCKET NURSE	BOX	50	\$27.68	\$1,384.00
	Profiller 1100 Capsule Filling					
47	System		EA	5	NB	NB
40	Profiller 1100 Maintenance Kit			F	ND	ND
48	Fromer 1100 Wantenance Kit		EA	5	NB	NB
	Pyxis MedStation 4000 4-					
49	Drawer	POCKET NURSE	EA	1	\$24,554.05	\$24,554.05
-						. ,
	Refurbished Hill-Rom		_ .		** • • • • •	
50	Advanced Bed with Mattress	POCKET NURSE	EA	7	\$2,195.00	\$15,365.00
	Resusci Junior CPR Training		L .			
51	Manikin Basic with Hard Case	POCKET NURSE	EA	10	\$1,525.46	\$15,254.60
		LAERDAL				
		MEDICAL CORP.	EA	10	\$1,525.50	\$15,255.00
52	Reusable Cold Hot Pack	POCKET NURSE	EA	20	\$1.50	\$30.00
52			L// 1	20	φ1.50	φ50.00
	Sani-Cloth Plus Germicidal					
	Disposable Cloth Wipe		L .			
53	(160/canister)	POCKET NURSE	EA	100	\$7.32	\$732.00
54	Sharps Container - 5 Quart	POCKET NURSE	EA	50	\$6.98	\$349.00
	Sharps container disposal 28					
	gallon box - including USPS					
	prepaid return box for					
55	responsible disposable		BOX	30	NB	NB
	- · ·	I		50	1,1	1,1

	Item Description (PLEASE NOTE: Where specific brand/manufacturer is referred to, it			Quantity (Quantities listed are estimates only, the District's needs may be		
Line #	is only for description purposes and an equal product/solution may be proposed)	Company	Unit of Measure	higher or lower than stated here)	PROPOSED UNIT PRICE	Extended Price
Lille #	proposed)	CAROLINA	Wiedsure	nere)	UNITIKICE	The
56	Simulating Urinalysis Lab Kit	BIOLOGICAL SUPPLY CO	EA	10	\$60.90	\$609.00
		POCKET NURSE	EA	10	\$110.58	\$1,105.80
57	Slide Set Forensic Blood Comparision Set Kit	CAROLINA BIOLOGICAL SUPPLY CO	EA	10	\$57.97	\$579.70
58	Stop the Bleed Kit, Basic multi (4) pack		EA	50	NB	NB
59	Student Dissecting Set in Molded Plastic Case	CAROLINA BIOLOGICAL SUPPLY CO	EA	50	\$7.95	\$397.50
39	Molueu Plastic Case	SUPPLI CO	EA	50	\$7.93	\$397.30
60	Surgical Gauze Sponge 4X4 (200/Box)	POCKET NURSE	BOX	10	\$0.95	\$9.50
61	Suture removal kit	POCKET NURSE	EA	20	\$1.23	\$24.60
62	Temporal Thermometer	POCKET NURSE	EA	10	\$106.20	\$1,062.00
63	The Bag II Infant BVM Resuscitation	LAERDAL MEDICAL CORP.	EA	10	\$14.67	\$146.70
		POCKET NURSE	EA	10	\$14.70	\$147.00
64	Topical Anesthetic Gel - Mint - 1 oz 040-7163		EA	20	NB	NB
65	Ultra Soft Safety Goggles	POCKET NURSE	PAIR	100	\$2.57	\$257.00
		CAROLINA BIOLOGICAL SUPPLY CO	PAIR	100	\$28.13	\$2,813.00
66	Ward's DNA Amplification by PCR Lab Activity Kit	CAROLINA BIOLOGICAL SUPPLY CO	EA	10		\$1,397.80
	Ward's Micropipette Carousel Pack	CAROLINA BIOLOGICAL SUPPLY CO	EA	10		\$458.20
	XCP-DS FIT Universal Sensor Positioning system		EA	1	NB	• 13 0.20 NB
69	Certified Dental Assisting Testing Vouchers		EA	100	NB	NB
70	Certified Nursing Assistant Testing Vouchers		EA	100	NB	NB

				Quantity		
				(Quantities		
				listed are		
	Item Description			estimates only,		
	(PLEASE NOTE: Where specific			the District's		
	brand/manufacturer is referred to, it			needs may be		
	is only for description purposes and		Unit of	higher or lower than stated	PROPOSED	Extended
Line #	an equal product/solution may be proposed)	Company	Measure	here)	UNIT PRICE	Price
	Certified EKG Technician	Company	Wiedsure	nere)	UNITIMEE	The
			EA	100	NB	ND
	Testing Exams		EA	100	NB	NB
	Certified EKG Technician			100	ND	ND
	Testing Exams Certified Medical Assistant		EA	100	NB	NB
			E A	100	ND	ND
	Testing Exams		EA	100	NB	NB
	Certified Medical Assistant		F 4	100	ND	ND
	Practice Exams		EA	100	NB	NB
	Certified Pharmacy Technician					
	Testing Exams		EA	200	NB	NB
	Certified Pharmacy Technician					
10	Practice Exams		EA	200	NB	NB
	Sim Manikin for Dental					
	Assisting that includes dental					
	radiography training		EA	1	NB	NB
	Dental Assisting Modules for					
	Disinfection, Sterilization and					
	Bloodborne Pathogens		EA	1	NB	NB
	Medical Assisting Modules with					
. ,	simulation		EA	1	NB	NB
	National Registry Emergency					
	Medical Technician Exam		EA	100	NB	NB
	Bendable Applicator Brushes					
-	082-8152		EA	4	NB	NB
	Bent 20 Gauge Brush Tip					
~ -	089-3933		EA	3	NB	NB
	Disposable Micro Applicator					
	082-6222		EA	5	NB	NB
	HP Dispensing Gun - 1.1					
÷ .	084-9190		EA	6	NB	NB
	Composite Mix Pad 084-					
	3607		EA	12	NB	NB
	Articulating Paper Forceps		L			
	083-8748		EA	12	NB	NB
	Patient Towels: Poly Backed					
	Bib (500/pkg) 090-0878		PACK	6	NB	NB
	Nonsterile Cotton Rolls -					
	(2000/pkg) 085-0073		PACK	6	NB	NB
	Cotton Roll Holder 085-		_ .	_		
89 1	1212		EA	12	NB	NB
_						
	Nonwoven Gauze Sponges -			_		•
	2"x2" (5000/pkg) 089-6167		PACK	6	NB	NB
	Sponge Dispenser for 2X2 Four					
	Ply Nonwoven gauze sponges -					
	capacity 32, spring action					
l I	release, vertical orientation 089-6357					
			EA	12	NB	NB

			1	1		
				Quantity		
				(Quantities		
				listed are		
	Item Description			estimates only,		
	(PLEASE NOTE: Where specific			the District's		
	brand/manufacturer is referred to, it			needs may be		
	is only for description purposes and		Unit of	higher or lower	PROPOSED	Extended
.	an equal product/solution may be	Comment		than stated		Price
Line #	proposed)	Company	Measure	here)	UNIT PRICE	Price
	GLOVES: flock-lined, nitrile util					
	during disinfection processes in t			0		
	provides improved tactile feel and	d grip while handling	g instrumenta	ation. IMS Lila	c Gloves are	
	autoclavable.					
	Utility Gloves - 3 pair/pkg 12	CAROLINA				
	pkg/case	BIOLOGICAL				
92	Small 044-7920	SUPPLY CO	CS	1	\$2.35	\$2.35
)2	Utility Gloves - 3 pair/pkg 12	CAROLINA	CD	1	ψ2.33	φ2.55
	pkg/case	BIOLOGICAL				
93	Medium 044-7938	SUPPLY CO	CS	1	\$2.35	\$2.35
93			Co	1	\$2.33	\$2.35
	•	CAROLINA				
		BIOLOGICAL	C C		** * -	
94	0	SUPPLY CO	CS	1	\$2.35	\$2.35
	Infection Protection Organizer -					
	wall mount, holds three boxes of					
	gloves, two face masks, towels					
	and bibs, clip hook; Quartz					
	ABS plastic contains no BPA,					
	16-3/4" W x 23-1/2" H x 4-3/4"					
95		POCKET NURSE	EA	1	\$2.04	\$2.04
,,,			Litt	1	φ2.01	φ2.01
0.6	Fog-Free Surgical Face Masks -		D. L. GIV	10		
96	50 /pkg 113-3180		PACK	10	NB	NB
	Instrument Tray Cover Sleeves					
97	(500/pkg) 085-0669		PACK	4	NB	NB
	Light Handle covers - 500/pkg					
98	085-0545		PACK	4	NB	NB
	Universal Covers - disposable,					
	plastic cover protects operatory					
	chair from cross-contamination					
99	085-0768		EA	4	NB	NB
	Disposable Mouth Props -		1	· ·	1.12	1,1
100	100/pkg 045-2003		PACK	3	NB	NB
100	Lab Pans - Blue - self-stacking,			5		110
	e.					
	stainless steel clip, not made					
	with natural rubber latex,					
	procedure storage pan 7" x 5-		L.			
101	3/4" x 2-1/2" 088-8735		EA	5	NB	NB
	Lab Pans - Green - self-					
	stacking, stainless steel clip, not					
	made with natural rubber latex,					
	procedure storage pan 7'' x 5-					
102	3/4" x 2-1/2" 088-8768		EA	5	NB	NB
102						1.10
	Lab Pans - Red - self-stacking,					
	stainless steel clip, not made					
	with natural rubber latex,					
	procedure storage pan 7" x 5-					
103	3/4" x 2-1/2" 088-8743		EA	5	NB	NB
. –	L	1	1		.—1	•=

				Quantity		
				(Quantities		
				listed are		
	Item Description			estimates only,		
	(PLEASE NOTE: Where specific			the District's		
	brand/manufacturer is referred to, it			needs may be		
	is only for description purposes and		TI	higher or lower	DDODOGED	E-tondad
	an equal product/solution may be	~	Unit of	than stated	PROPOSED	Extended
Line #	proposed)	Company	Measure	here)	UNIT PRICE	Price
	Lab Pans - White - self-					
	stacking, stainless steel clip, not					
	made with natural rubber latex,					
	procedure storage pan 7" x 5-			_		
104	3/4" x 2-1/2" 088-8750		EA	5	NB	NB
	Lab Pans - Yellow - self-					
	stacking, stainless steel clip, not					
	made with natural rubber latex,					
	procedure storage pan 7" x 5-			_		
105	3/4" x 2-1/2" 088-8776		EA	5	NB	NB
	Vacuum Forming Unit		L .			
	090-9879		EA	1	NB	NB
	Dexis Platinum Digital					
107	Radiography Sensor		EA	1	NB	NB
	Aribex Nomad Pro 2 (x-ray					
108	gun)		EA	1	NB	NB
	XCP-DS FIT Universal Sensor					
109	Positioning system 607-1377		EA	1	NB	NB
	Eaglesoft Computer Software -					
	Educational Use Version (non					
110	clinical use version)		EA	1	NB	NB
	Hu-Friedy Instrument Kits:				NB	NB
111	Sinus Lift Kit IMNSINUS		EA	2	NB	NB
	Cement Crown Seat					
	IMNCEMENT		EA	4	NB	NB
113	Total Restorative Kit		EA	4	NB	NB
	Crown and Bridge		-			
114	IMNCROWN		EA	4	NB	NB
115	Composite/Crown Prep		EA	4	NB	NB
115	IMNCOMPOSIT Ortho Banding/Bonding			4	IND	
116	IMNORTHOBB		EA	2	NB	NB
	Ortho Archwire Adjustment		1			
117	IMNORTHOAA		EA	2	NB	NB
	Exam Signature Series 5					
	Instrument Cassette, Yellow					
118	IMN6055		EA	24	NB	NB
119	Prophy IMNPROPHY		EA	2	NB	NB
	Prophy Standard Set-Up Includes:		•			
	Small Infinity Series 10 Instrument Cassette	e, Purple (IMN5106)				
	#6 Satin Steel Mirror Handle (MH6) 5 Front Surface Mouth Mirror, 3 pack (MIF	85/3)				
	11/12 Old Dominion University Explorer, #6	Satin Steel Handle (EXD1	1/126)			
	CP-12 Color-Coded Probe, #6 Satin Steel Ha	andle (PCP126)				
	Everedge H6/H7 Hygienist Scaler (SH6/79) Everedge 11/12 Gracey Curette (SG11/129)					
	Everedge 13/14 Gracey Curette (SG13/149)					
	Everedge 13/14 Columbia University Curette	e (SC13/149)				
	3C Ceramic Sharpening Stone (SS3C) A/W Syringe Tip Clip (IM1005N)					
L	ia in Syringe rip City (IN110051)			Į		

Line #	Item Description (PLEASE NOTE: Where specific brand/manufacturer is referred to, it is only for description purposes and an equal product/solution may be proposed)	Company	Unit of Measure	Quantity (Quantities listed are estimates only, the District's needs may be higher or lower than stated here)	PROPOSED UNIT PRICE	Extended Price
120	Perio IMNPERIO		EA	2	NB	NB
	Infinity Series Collection Perio Standard Set-Up Includes: 14 Instrument Cassette, Blue (IMN9148), #6 Satin Steel Mirror Handle (MH6), 5 Front Surface Mouth Mirror, 3 pack (MIR5/3), 11/12 Old Dominion University Explorer, #6 Satin Steel Handle (EXD11/126), CP-12 Color-Coded Probe, #6 Satin Steel Handle (PCP126), Everedge H6/H7 Hygienist Scaler (SH6/79), Everedge 204S Sickle Scaler (S204S9), Everedge 1/2 Gracey Curette (SG1/29) Everedge 7/8 Gracey Curette (SG7/89), Everedge 11/12 Gracey Curette (SG11/129), Everedge 13/14 Gracey Curette (SG13/149), Everedge 13/14 Columbia University Curette (SC13/149), 3C Ceramic Sharpening Stone (SS3C), A/W Syringe Tip Clip (IM1006)					

CAROLINA BIOLOGICAL		
SUPPLY CO	\$38,329.34	
POCKET NURSE	\$148,841.21	
UNIFORM WORLD INC	\$4,334.40	
*APEX LEARNING	see catalog	Confidential
LAERDAL MEDICAL CORP.	\$87,675.90	

APEX DID NOT SUBMIT PRICING ON ANY REQUESTED ITEMS AND IS NOT AWARDED A CONTRACT FOR 32-19-05